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Assunto: Sistema de Numeral  

Substituindo o valor b = 1 na expressão, temos: 

i)  (a Δ 1) = a2 + a – 1 

ii)  (1 Δ a) = 1 + a – a2 

iii)  (a Δ 1) * (1 Δ a) = (a2 + a – 1) . (1 + a – a2) + (a2 + a + 1) 

 (a Δ 1) * (1 Δ a) = (a2 + a – 1) [1 + a – a2 + 1] 

 (a Δ 1) * (1 Δ a) = (a2 + a – 1) . (–a2 + a + 2). 

 

Como (a Δ 1) * (1 Δ a) = 0, então: 

a2 + a – 1 = 0 
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Somando as duas raízes, temos: 
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Item: E 

𝑎′ =  
√5−1

2
  maior raiz 

a’’ = 
 5 1

2
 

ou        –a2 + a + 2 = 0  

           a2 – a – 2 = 0  

          Δ = 9 

         a =   
1 3

2
 

𝑎′ = 2 maior raiz 

a’’ = –1  


